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import sys

sys.path.append("statlib")

from plot import npp

npp(f, x=None, xlab="Observed", ylab="Cumulative Percent",

title="Normal Probability Paper")
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import sys
sys.path.append("statlib™)
from plot import npp

npp([1, 2, 3, 4, 3, 2, 1D)




Cumulative Percent

Normal Probability Paper

99.99

99.9 1

99.0 1

95. 0 1
90. 0

80.0 1 o

70.0
60.0
50. 0
40.0 - s
30.0 1

20.0 1 o

10.0 1
°

1.0 1

0.1 1

0.01 T T T
1 2 3 4 6)

Observed

import numpy as np

np.random.seed (12345)
x = np.floor(np.random.normal (50, 10, 1000)/5)*5
uniq, count = np.unique(x, return_counts=True)

n = len(uniq)
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